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= 3.408

=147
=1/(N(2* o -

= 3.408

=1.30
=1/(V(2 * paz-

= 4,500

=147
=1/ (V2 + pas-

= 4,500

1)) = 0.415

1)) = 0.415

1)) = 0.354

1)) = 0.354

W,=  6.330 (MN)

W,=  6.330 (MN)
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2) DMFEIERESS A 7 1 1
W=W,+c,* Wy= 8027 (MN)

»,‘L,
NN (G

Wy HEEEIHIA SR LT D RSy o ERE W, = 6.330 (MN)

¢t ST A A R = 0.5(s P REEER)

OMTEMEREIZ A FIHEE)
W=W,+c,* W,=  8.027 (MN)

»,‘L,
NN (G

Wy HEZREHIA SR LT D RSy OFEE W, = 6.330 (MN)

¢t ST A E R = 0.5(s P REEER)

AT R AR Seple > T
cp = O.5(Hi T kg )
= LO(H AW EER, dF G & B AW TY)

3.1.6 KM DA
(1) DELERE2S £ 7 1 05

P.= 4972 >kexW= 4327 70O T, MMNEEE LT3,
Z ZIZ,

P, @ HUERFCRA KM /) (MN)

kne @ BXEPKFEEE = 0539

W Sl E & = 8.027 (MN)

QM EMERE2 Z A 7 N1 M E )
P, 4972 > kyxW = 4893 72D T, MAHEHRE L TWD,

- >
— —

™

o o MR RATAKSEN /) (MN)
ke @ axalZKPEEE = 0610
W @ Al 8.027 (MN)

e

(2) DWEIEREIS 1 7 1 HEED)
Po= 4973 >kexW= 3689 ADOT. MR LTV,

~

P, @ HUEERFIRA KM S (MN)
Knc @ axalZKPEE = 0.460
W il 8 = 8.027 (MN)

(@

-
—

QM ENERES Z A 7 N1 M= E)
P,= 4973 >kyexW= 4171 70T, MWAEMEL W5,

P, : HUEREFORA AN (MN)

knc @ axalKPEEE = 0520
W Sl E = 8.027 (MN)
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AT K 2HIE BRERG) kA7 a )

*ﬁﬂfﬂ@ FFR RN
FREENMMERE T, 8227 V) — MaHZeoT

3.1.7 7%

Cr

roc K ORRIIPE
Q) M@ 1 7 1 Mg
%<&mﬁmfﬁ%£ﬂ KO AELE L T\ D,
=Cr(pr — DA —1)6,

2
., : OIS R :iﬂQ'hw'%)+1} =2.702

i io) SIYs 558/ A =49.01 (mm)

8, : WD RRRZAEAL =47.99 (mm)
(2) MHEMERE2Z A 711 HEH)
6R<%aﬁ®fﬁ AL L DREZTZE LTV 5,
=66.67 (mm)

: KB O TR BT =Cr(ur — DA =18,
u, : IO IR :i{(cz A 1} —3315
8, : MM BIRANL =47.99 (mm)

72 BMIFRIERESIZ B L CIIFRBE NI & 5 HIE I 20 L 722\,

T D2RMAIMEDEE T, BiF= 7 U — MEMZZROT

100.00 (mm)
0.6
0.0
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P 2, BRAE 3 R

RRE 2
:\-\ ------ s s e s s weew i“ ------ fesessewen
L5 11 )
120,130 3611254
BTN D29@125
T 8RAT Hepy(%) 0.334
HH - TRRE SR D13ctc150
A0 AT D IARFE LE ps(%6) 0.355
FRAS i R
HEEE O FESE MHEMERE2 2 A 7 MHEEMERES Z A 7
M EENE O] E NG NG
R hrE T D
HUERRH R A KM 7T P, (MN) 3.020 3.020
il RE il o Rl AR Hh U T R
RS Py (MN) 3.020 3.020
B AT Pyo(F2%21.0) (MN) 6.594 6.594
AW P, (MN) 5.908 5.908
ke = W (MN) 6.981 5.993
REKTEE Ky 0.870 0.747
SRR EAREL o 0.497 0.427
TRIAMER 4, 2.524 3.246
C; khco 1.75 1.75
G EEE W (MN) 8.027 8.027
Pyl Kne * W 0.433 0.504
A IR 5 4 E P, <ky * WNG P, <ke * WNG
RREEN Opa (mm) 100.00
HMEERALE h (m) 10.00
PR ENL Oy (mm) 263.52
PN ERRE o 0.6
B RIEYESR ur 11.314
REARIIPEIZ 6 5 20ROk 1 0.0
BRIRZENL (mm) 4258
FRER N 2 E Or =0ra NG
BT
WEIRZEAL Jdy(mm) 4258 4258
I NA Si(mm) 128.98 165.90
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e

L s N N N

B X |
B8] D38@125
T8 e pd(%) 0.592
R - AT ERAT D19ctc150
TR O RFH L ps(%) 0.803
PR R
HEBN OFEEE MHEMERE2 2 A 7l MHEMRES Z 4 71
M EENE O] E OK OK
FEISIIVASS FH H
HUERRH A KM 7T P, (MN) 4.972 4.973
g e 1 g e R Hh U g R
HIRAEm S Py (MN) 4.972 4973
B AT Pyo(F%%21.0) (MN) 10.761 10.761
B AT P, (MN) 10.039 10.039
Kne * W (MN) 4.893 4171
AREARERERE Ky 0.610 0.520
SRR EAR L o 0.415 0.354
TFRVAVESR  u, 3.408 4.500
Cz * Kneo 1.47 1.47
LAhERE W (MN) 8.027 8.027
Pyl kne + W 1.016 1.192

IR IR %l E

Pa >ki. + WOK

Pa> Ky + WOK

TRIREENL Ora (mm) 100.00
EHESERALE  h (m) 10.00
FRREENL O (mm) 66.67
PR AENAERREL ok 0.6
BRI EBYER ur 3.315
BetRINTE 34 2 20k PED L ¢ 0.0
MERARL 6, (mm) 47.99
s VAN S RVeX & it Sr > 0ra OK
XA
WEIRZEAL Jdy(mm) 49.72 49.73
DDA Jis(mm) 196.26 259.18
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